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import sys
sys.path.append("statlib")
from multi import princo

princo(s, verbose=True)
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import sys
sys.path.append("statlib™)
from multi import princo_plot

princo_plot(arg, axl=1, ax2=2, label=True, color="black", color2="blue", alpha=0.5)
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import sys

sys.path.append("statlib")

from multi import princo

a =

princo(s)

Principal Coordinate Analysis

eigenvalue

Axis 1

5.236068

contribution 0.748010

cum. contr.

vectors

0.748010

Objectl
Object2
Object3
Object4

Axis 1
-0.850651
-1.376382

0.850651
1.376382

Axis

0.
-0.
0.
-0.
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Axis 2

.000000
. 142857
.890867

Axis 3
0.763932
0.109133
1.000000

Axis 3
0.525731
-0.324920
-0.525731
0.324920

import
import

dat =
dat =

numpy as np
pandas as pd

pd.read_csv("data/iris.csv")
np.array(dat.iloc[:,

:41)

from multi import similarityMatrix

S =

princo(s,

similarityMatrix(dat,

method=2)

verbose=False)




import sys
sys.path.append("statlib")
from multi import princo_plot

color = np.repeat(["red", "blue", "green"], 50)

princo_plot(a, color=color, label=False)
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= similarityMatrix(dat, method=3)
a = princo(s, verbose=False)

princo_plot(a, color=color, label=False)
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